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COMBINATORIA 

Problema 15: 

Resolver la ecuación: 

��
2� + 3 �� − 1

2 
 = 91 

Solución Problema 15: 

��
2� + 3 �� − 1

2 
 = 91   ������ó� 1 

La ecuación 1 la podemos poner como: 

��,� + 3 ����,� = 91 

Operando sobre ella 

��,�
��

+ 3 ����,�
��

= 91 

x(x − 1)
2 + 3 (x − 1)(x − 2)

2 = 91 

x(x − 1) + 3(x − 1)(x − 2) = 182 

�� − � + 3(�� − � − 2� + 2) = 182 

�� − � + 3�� − 9� + 6 = 182 

4�� − 10� − 176 = 0 

Simplificando por 2: 

2�� − 5� − 88 = 0 

x =  5 ± √5� + 4x2x88
4 = 5 ± √25 + 704

4 =  5 ± √729
4 = 5 ± 27

4    

() =  5 + 27
4 =  32

4 = *  +,-./0ó1 2á-045 

(6 =  5 − 27
4 =  −22

4 =  −))
6   +,-./0ó1 2á-045 


